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Comprehension:

Study the table given below and answer the questions :

The table gives attendance of employees (number of employees present) on five week days in five
offices, namely, A, B,C, Dand E :

Tiays Number of employees present in offices

A B C D E
Monday 139 147 211 141 184
Tuesday 141 189 164 189 151
Wednesday 115 141 159 156 136
Thursday 89 223 120 147 113
Friday 187 93 257 160 124

SubQuestion No : 1

Q1 The number of employees present in office A on Wednesday is what percent of the number of
employees present in office D on Friday ?
7
139—
1 1392
%
71—
@ 7
il
63—
@ 633
2
61=
@ 613
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 42558910888
Option 11D : 42558942372
Option 2 ID : 42558942373
Option 31D : 42558942374
Option 4 ID : 42558942375

Status : Answered
Chosen Option : 2
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Comprehension:

Study the table given below and answer the questions :

The table gives attendance of employees (number of employees present) on five week days in five
offices, namely, A, B, C, Dand E :

Tiugs Number of employees present in offices

A B C D E
Monday 139 147 211 141 184
Tuesday 141 189 164 189 151
Wednesday| 115 141 159 156 136
Thursday 89 223 120 147 113
Friday 187 93 257 160 124

SubQuestion No : 2

Q2 What is the average number of emplnyees present in office B on MDnday, Tuesday and Friday ?
(1) 143
(2) 159
(3) 153
4) 173
Options 1.1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 42558910887
Option 11D : 42558942368
Option 2 ID : 42558942369
Option 3 ID : 42558942370
Option 4 1D : 42558942371

Status : Answered

Chosen Option : 1
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Comprehension:

Study the table given below and answer the questions :

The table gives attendance of employees (number of employees present) on five week days in five
offices, namely, A, B, C, Dand E :

Tiugs Number of employees present in offices

A B C D E
Monday 139 147 211 141 184
Tuesday 141 189 164 189 151
Wednesday| 115 141 159 156 136
Thursday 89 223 120 147 113
Friday 187 93 257 160 124

SubQuestion No : 3

Q.3 What is the respective ratio between total number of employees present in office B on Wednesday
and Thursday together and total number of employees present in office C on Monday and Friday
together ?
1} 113
(2 9:11
3 7:9
4 7:11
Options 1.1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

McCQ
42558910885
42558942360
42558942361
42558942362
42558942363
Answered

3
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Comprehension:

Study the table given below and answer the questions :

The table gives attendance of employees (number of employees present) on five week days in five
offices, namely, A, B, C, Dand E :

Tiugs Number of employees present in offices

A B C D E
Monday 139 147 211 141 184
Tuesday 141 189 164 189 151
Wednesday| 115 141 159 156 136
Thursday 89 223 120 147 113
Friday 187 93 257 160 124

SubQuestion No : 4

Q4 What is the difference between total number of employees present in offices C and D together on
Tuesday and total number of employees present in offices A and E together on Thursday ?
(1) 147
2 271
(3) 151
) 171
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 42558910884
Option 11D : 42558942356
Option 2 ID : 42558942357
Option 31D : 42558942358
Option 4 ID : 42558942359

Status : Answered
Chosen Option : 3
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Comprehension:

Study the table given below and answer the questions :

The table gives attendance of employees (number of employees present) on five week days in five
offices, namely, A, B, C, Dand E :

Tiugs Number of employees present in offices

A B C D E
Monday 139 147 211 141 184
Tuesday 141 189 164 189 151
Wednesday| 115 141 159 156 136
Thursday 89 223 120 147 113
Friday 187 93 251 160 124

SubQuestion No : 5

Q5 The number of employees present in office E on Monday is what precent more than the number of
employees present in office C on Thursday ?
(1) 34.78%
(2) 21.05%
(3) 55.25%
@) 53.33%
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558910886
Option 11D : 42558942364
Option 2 ID : 42558942365
Option 3 ID : 42558942366
Option 4 ID : 42558942367
Status : Answered
Chosen Option : 4
Q.6

A boat takes an hour to cover a certain distance downstream in a river. It takes 11 hour to cover the

same distance upstream. Assuming that the speed of boat is same in both downstream and upstream
directions, what is the ratio of speed of boat to that of stream in the river ?

U 2:3
@ 5:1
(@) 3:2
(4 5:2

Options 1.1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 42558910904
Option 11D : 42558942436
Option 2 ID : 42558942437
Option 3 ID : 42558942438
Option 4 ID : 42558942439

Status : Answered
Chosen Option : 2
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Q7 Match List - I with List - I1 :
List- I List - IL
A.  Ad hominem L Mistaking correlation for causation
B. Straw man IL Attacking the person instead of issue
C.  False cause [MI. Misrepresenting someone’s argument
D. Red Herring IV.  Diverting attention to another issue
Choose the correct answer from the options given below :
(1) A-1IV, B-ll, C-[, D-IIT
(2) A-IL B-II, C-L D-IV
(3) A-Il, B-1, C-II, D-IV
(4) AL B-II C-I, D-IV
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558910913
Option 11D : 42558942472
Option 2 ID : 42558942473
Option 31D : 42558942474
Option 4 ID : 42558942475
Status : Answered
Chosen Option : 4
Q.8 Choose the ‘RIGHT’ statements :
A, IoT term was first used by Ashton in context to supply chain management with RFID-tags
B.  Bluetooth 4.0 is working on the frequency range of 2.4 MHz
C.  Gyroscope is normally related to the motion sensors
D. IPv6is related to the coding of vaccines protocol
E.  GSMis global sequence of Mechanics
Choose the correct answer from the options given below :
(1) AandBOnly
(2) DandE Only
(3) AandCOnly
4) Band DOnly
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558910922
Option 11D : 42558942508
Option 2 ID : 42558942509
Option 31D : 42558942510
Option 4 1D : 42558942511
Status : Answered
Chosen Option : 1
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Q.9
Choose the ‘RIGHT’ statements :
A. CISCO is a Hockey manufacturer
B. VLC is Visible Light Communication
C. SDN is System of Digital Network
D. HyperCatis an Open [SON based Catalog format
E.  SoC is Sequence of Choice
Choose the correct answer from the options given below :
(1) AandBOnly
2) BandCOnly
(3) CandE Only
(4) Band DOnly
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558910921
Option 11D : 42558942504
Option 2 ID : 42558942505
Option 3 ID : 42558942506
Option 4 ID : 42558942507
Status : Answered
Chosen Option : 3
Q.10 Arrange the important events according to the Erickson’s Eight Stages of Psychosocial development
sequentially :
A, Toilet training
B. Feeding
C.  Reflections and acceptance on one’s life
D. Love relation
E.  Peer relationships
Choose the correct answer from the options given below :
1) ACB,DE
2 CABDE
8) B-AED,C
4 ADECB
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558910916
Option 11D : 42558942484
Option 2 ID : 42558942485
Option 3 ID : 42558942486
Option 4 ID : 42558942487
Status : Answered
Chosen Option : 3
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Q.11
Arrange the following in increasing order of their values:
A, {lll]3
1
B, (LJA
100
/s
C. (0.005)"
b
D. (0.04)"
Choose the correct answer from the options given below :
1y ACIDEB
2) ACBD
3) D,BC.A
4 CBDA
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :
Chosen Option :

MCQ
42558910906
42558942444
42558942445
42558942446
42558942447
Answered

1
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Q.12

A.  Modus Ponens

B. Modus Tollens

C.  Hypothetical syllogism
D. Argument from analogy

Which of the following are valid deductive forms of reasoning ?

Choose the most appropriate answer from the options given below :
(I) AandBOnly
2) A, BandC Only
(3) A, BandD Only
(4) CandD Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558910912
Option 11D : 42558942468
Option 2 ID : 42558942469
Option 3 ID : 42558942470
Option 4 1D : 42558942471
Status : Answered
Chosen Option : 4
Q13 Arrange the following commissions/committees (in field of education) in chronological order :
A, GNANAM Committee
B. Kothari Commission
C.  National Knowledge Commission
D. MUDALIAR Commission
E.  Yashpal Committe (Advice on Renovation and Rejuvenation of Higher Education)
Choose the correct answer from the options given below :
(1) D,ACERB
2 BDCEA
) BDACGE
) D,BACE
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558910896
Option 11D : 42558942404
Option 2 ID : 42558942405
Option 3 ID : 42558942406
Option 4 ID : 42558942407
Status : Answered

Chosen Option : 4
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Q.14 : " :
Arrange the four noble truths of Buddhism in the chronological order :
A.  Nirodha
B.  Marga/Magga
C. Dukha
D. Samudaya
Choose the correct answer from the options given below :
() B ACD
2 CDA,B
3 DCBA
4 ACBD
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558910911
Option 11D : 42558942464
Option 2 ID : 42558942465
Option 3 ID : 42558942466
Option 4 ID : 42558942467
Status : Answered
Chosen Option : 2
Q.15 ; : . ; .
Which one is not a type of communication modality ?
(1) Proxemics
(2) Heptics
(3) Chronotoxics
(4) Crestures
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558910900
Option 11D : 42558942420
Option 2 ID : 42558942421
Option 3 ID : 42558942422
Option 4 ID : 42558942423
Status : Answered
Chosen Option : 4
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@

@)

#)

Options 1. 1
2.2

3.3

4.4

Q16 Which Model depicts communication asa process by which communicators send messages / feedback
simultaneously to one another ?

Socio-cultural
Socio-psychological
Interactional
Transactional

Question Type : MCQ
Question ID : 42558910899
Option 11D : 42558942416
Option 21D : 42558942417
Option 3 ID : 42558942418
Option 4 1D : 42558942419
Status : Answered
Chosen Option : 4
Q17 Which of the following pertains to Clean Development Mechanism (CDM) under Kyoto Protocol ?
(1) Getting Certified Emission Reductions (CER) credits for industrialised countries
(2)  Reducing noise pollution
(3) Decreasing amount of chlorofloro carbons
(4) Maintaining ozone layer
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558910925
Option 11D : 42558942520
Option 21D : 42558942521
Option 3 ID : 42558942522
Option 4 ID : 42558942523
Status : Answered
Chosen Option : 1
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Q18 Which of the following factors affect the internal validity of an experimental research ?
A, Placebo effect
B. Instrument Decay
C. Contemporary events
D. Hawthorne effect
E.  Bias in selecting subjects in sample
Choose the most appropriate answer from the options given below :
(1) B, CandEOnly
(2) B, Cand D Only
(3) A ,CandD Only
(4) C,DandE Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558910891
Option 11D : 42558942384
Option 2 ID : 42558942385
Option 3 ID : 42558942386
Option 4 ID : 42558942387
Status : Answered
Chosen Option : 3
Q.19
PSTN stands for :
(1)  Public Service for Technical Networks
(2)  Public Switched Telephone Network
(3)  Public Satellite Television Network
(4) Public Safety Trademark Network
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558910919
Option 11D : 42558942496
Option 2 ID : 42558942497
Option 3 ID : 42558942498
Option 4 ID : 42558942499
Status : Answered
Chosen Option : 3
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Q20 pjagch List - I with List - I -

List- I List - II
A, Mann Whiteny L Product Moment method of correlation
B. Kendall II.  Test of homogeneity of variances
s Bartlett II. U Test
D. Karl Pearson IV. Tau Test

Choose the correct answer from the options given below :
(1) A-lI, B-1I, C-IV, D-1
(2) A-IV, B-III CI, D-I
3) A, B-IV, C-II, D-I
) A-LV, B-L C-1II, D-I1

B D

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 42558910893
Option 11D : 42558942392
Option 2 ID : 42558942393
Option 3 ID : 42558942394
Option 4 ID : 42558942395

Status : Answered

Chosen Option : 1

Q2 Arrange the following chronologically on the basis of their launch year :

A.  Swayamprabha
B. Krishi darshan
C. Gyandarshan
D PM_eVidya

Choose the correct answer from the options given below :
(1) CABD
2 ACD,B
(3) BCAD
4 ABDC

Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Question ID : 42558910901
Option 11D : 42558942424
Option 2 ID : 42558942425
Option 3 ID : 42558942426
Option 4 ID : 42558942427

Status : Answered

Chosen Option: 3
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Q.22 According to Bloom's CAP Classification of Educational Objectives, is an example of
Psychomotor Domain.

(1) Organizing
(2) Application
(3) Manipulation
(4) Comprehension
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558910914
Option 11D : 42558942476
Option 2 ID : 42558942477
Option 3 ID : 42558942478
Option 4 ID : 42558942479
Status : Answered
Chosen Option : 2
Q23 Natch List - I with List - 1
List- 1 List-1I
(Waste Disposal Method) (Characteristics)
A, Medern Landfilling L Reduced waste volume
B.  Openland dumping II.  Well engineered and managed facility
C.  Incineration III. Ecofriendly process
D.  Bioconversion into compost IV. Low cost of dumping
Choose the correct answer from the options given below :
(1) A-IL B-III, C-1V, DI
(2) A-I, B-IL, C-1, D-IV
(3)  A-IL B-1V, C-L, D-1II
(4) A-IL B-1, C-III, D-IV
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558910928
Option 11D : 42558942532
Option 2 ID : 42558942533
Option 3 ID : 42558942534
Option 4 ID : 42558942535
Status : Answered
Chosen Option : 3
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924 Match List - I with List - II
List-1 List - II
17 1

A, (343}%, - (81 )/1 is equal to L 100

B. 1£2% x 4% x 83 = 2Vthe x is equal to I 200

g SEr =il al m. 4

2 (1.01+1) 1s equal to 1

D. A train moving with speed of 90 km/hour crosses a v. 23
platform of length 100 m in 12 second. The length (m)
of the train is

Choose the correct answer from the options given below :
(1) A-lI, B-IV, CI, D-II
@  A-IL B-1V, C-1II, D-I
(3) A-L B C-1V, D-II
(4) A-II, B-IV, C-II, D-1
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 42558910908
Option 11D : 42558942452
Option 2 ID : 42558942453
Option 3D : 42558942454
Option 4 ID : 42558942455

Status : Answered

Chosen Option : 1

Q.25 Arrange the following from higher level to lower level of scales of measurement involved in them :
A, Researcher divides the sample in two groups based on area of residence like ‘Urban’ and ‘Rural’
Area.
B. A student has got 50 marks out of 60 marks in English language test.
C. A cricketer is given tenth rank as an allrounder.
D.  The height of a particular building is double than all other buildings in a street.
Choose the correct answer from the options given below :
() BrC.BaA
2y ABDC
(3) CBAD
4) DBCA

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 42558910890
Option 11D : 42558942380
Option 2 ID : 42558942381
Option 31D : 42558942382
Option 4 ID : 42558942383

Status : Answered

Chosen Option : 1
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Q.26 Some statements are given below. Mark the ‘Right’ combination :

A, Teaching is included in learning - True
B. Post active stage of teaching provides a corrective and remedial scope of teaching - False
C.  Teaching is included in learning - False
D. Post active stage of teaching provides a corrective and remedial scope of teaching - True
Choose the correct answer from the options given below :
(1) AandD Only
(2) CandBOnly
(3) AandBOnly
4) CandDOnly
Options 1.1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558910917
Option 11D : 42558942488
Option 2 ID : 42558942489
Option 3 ID : 42558942490
Option 4 1D : 42558942491
Status : Answered
Chosen Option : 2
Q.27 ; . ; :
Which of the fn]_ll:lwmg are required to become a good listener ?
A.  Keep quite while listening
B. Listen with negative attitude towards the speaker
C.  Show interest in the speaker
D.  Focus on the dress and appearance of the speaker
E.  Keep your mind open to every subject and speaker
Choose the correct answer from the options given below :
(1) A BandCOnly
(2) B,CandDOnly
(3) A, CandEOnly
(4) C, DandE Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558910902
Option 11D : 42558942428
Option 2 ID : 42558942429
Option 3 ID : 42558942430
Option 4 ID : 42558942431
Status : Answered
Chosen Option : 3
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Q.28 Arrange the phases of modern approach to disaster management in order (from initial to final) :

A, Recovery
B.  Preparedness
C.  Response
D. Mitigation
Choose the correct answer from the options given below :
() CBAD
@ DBCA
3 ABCD
4 BCAD
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558910926
Option 11D : 42558942524
Option 2 ID : 42558942525
Option 3 ID : 42558942526
Option 4 ID : 42558942527
Status : Answered
Chosen Option : 4
Q29 Match List - I with List - I :
List - I List- 11
(Type of Processor) (Characteristics)
A.  CISC Processors I Operating system controls overall assignment of tasks
B.  RISC Processors Il Use explicit parallelism
C.  EPIC Processors III. These possess so many processing features, making
the job of machine language programmers easier
D.  Multicore Processors [V. Have a small instruction set
Choose the correct answer from the options given below :
(1)  A-IL B-I, C-IV, D-1II
(2)  A-II, B-IV, C-II, DI
(3) A-IL B-IV, C-[, D-III
(4)  A-IIL B-II, C-1V, D-I
Options 1.1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558910923
Option 11D : 42558942512
Option 2 ID : 42558942513
Option 31D : 42558942514
Option 4 ID : 42558942515
Status : Answered
Chosen Option : 2
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Options 1. 1
2.2
3.3
4.4

Q30 Ty persons A and B finish a work in 10 days. A is twice as efficient than B. How many days A will
take to finish the work, if he has to do it alone ?

8 days

12 days
15 days
18 days

Question Type : MCQ
Question ID : 42558910905
Option 11D : 42558942440
Option 2 ID : 42558942441
Option 3 ID : 42558942442
Option 4 ID : 42558942443
Status : Answered
Chosen Option : 3
Q31 Which of the following programmes of UGC is not related to promotion of value and ethical
practices 7
(1)  Jeevan Kaushal
2) CARE
(3) Mulya Pravah
(4) National Resource Centre for Value Education (NRCVE)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558910894
Option 11D : 42558942396
Option 2 ID : 42558942397
Option 3 ID : 42558942398
Option 4 1D : 42558942399
Status : Answered
Chosen Option : 2
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Q32 A per Noise Pollution (Regulation and control) Act (2000), the permissible noise level (Leq) during
the day for silence zones is :

(1) 55dB(A)
(2) 50dB(A)
(3) 45 dB(A)
() 65dB(A)
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 42558910924
Option 11D : 42558942516
Option 2 ID : 42558942517
Option 3D : 42558942518
Option 4 1D : 42558942519

Status : Answered
Chosen Option : 1

Q33 ma group of 40 people, 25 people speak Hindi and 20 people speak both Hindi and Urdu. All the
people speak atleast one of the two languages. How many people speak Urdu ?

n 65
@ 15
(3) 45
# 20

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 42558910909
Option 1 ID : 42558942456
Option 2 ID : 42558942457
Option 3 ID : 42558942458
Option 4 1D : 42558942459

Status : Answered
Chosen Option : 4



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

2 q 7 GET IT ON
Google Play
Q.34 o .
‘Verbal Association Learning” was proposed by :
(1) Melton
(2) Thorndike
(3) Cronbach
(4) Gagne
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558910915
Option 11D : 42558942480
Option 2 ID : 42558942481
Option 3 ID : 42558942482
Option 4 ID : 42558942483
Status : Answered
Chosen Option : 4
Q35 \Which of the following programmes/software can be used for quantitative data analysis ?
A, MSWORD
B. MS POWER POINT
C. MSEXCEL
D. MS ACCESS
E. SPSS
Choose the most appropriate answer from the options given below :
(1) A ,C DandB Only
() A, DandE Only
(3) C DandE Only
4) B,DandE Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558910892
Option 11D : 42558942388
Option 2 ID : 42558942389
Option 3 ID : 42558942390
Option 4 1D : 42558942391
Status : Answered
Chosen Option : 3
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Q36 For the purpose of systematically fostering the culture of innovation in all HEIs, when did ministry
of Education establish ‘Innovation Cell” ?

(1) 2016
(2) 2018
(3) 2019
(#) 2020
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 42558910895
Option 11D : 42558942400
Option 2 ID : 42558942401
Option 3 ID : 42558942402
Option 4 ID : 42558942403

Status : Answered
Chosen Option : 3

Q37 Inthe experiment of determining better “Yoga Exercise’ out of two that can reduce the fat of urban
people of different age groups, which of the following is an intervening variable ?
(1) Area
(2)  Yoga Exercise
() Food habit
(4)  Fatof the people

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 42558910889
Option 1 ID : 42558942376
Option 2 ID : 42558942377
Option 3 ID : 42558942378
Option 4 1D : 42558942379

Status : Answered
Chosen Option : 3
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Q.38 The fallacy where the conclusion does not logically follow from the premises is called :

(1) Adhominem
(2) Straw man
(3) Non-sequitur
(4) Red herring
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558910910
Option 11D : 42558942460
Option 21D : 42558942461
Option 3D : 42558942462
Option 4 ID : 42558942463
Status : Answered
Chosen Option : 4
Q39 Match List - I with List - IT :
List - I List-1II
A, Public Communication I. Communicating with oneself
B.  Group Communication I.  face to face Communication with another person
C.  Intrapersonal Communication III.  when many people participate in communication with
each other
D.  Interpersonal Communication IV.  one person speaking to a large number of people
Choose the correct answer from the options given below :
(1) AL B-IL C-1IV, DI
(2) A-IV,B-1II C-[, D-I
(3)  A-L B-IL, C-II, DIV
(4)  A-1V, B-I, C-II, D-III
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558910903
Option 11D : 42558942432
Option 2 ID : 42558942433
Option 31D : 42558942434
Option 4 ID : 42558942435
Status : Answered
Chosen Option : 2
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Q.40 Z J . e :
The decimal number equivalent to binary digit 110 is
1 4
@ 5
@) 6
@ 7
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558910920
Option 11D : 42558942500
Option 2 ID : 42558942501
Option 3 ID : 42558942502
Option 4 ID : 42558942503
Status : Answered
Chosen Option: 2
Q.41 Choose the correct statements regarding environmental incidents from the following :
A.  Bhopal accident was due to methyl isocyanate
B. Hiroshima and Nagasaki incident was due to radioactivity
C.  Bhuyjincident occurred due to poison gas
D.  Fukushima nuclear power plant incident was due to earthquake
E.  Chernobyl accident in Soviet Union occurred due to volcano
Choose the correct answer from the options given below :
(1) A Band COnly
(2) A, BandD Only
(3) A C andEOnly
(4) C,DandE Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558910927
Option 11D : 42558942528
Option 2 ID : 42558942529
Option 3 ID : 42558942530
Option 4 ID : 42558942531
Status : Answered
Chosen Option : 2
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Q42 Which of the following institutions are among Top Ten institutions in the category of research
institutions in India Ranking : 2024 released by NIRF ?

Indian Institute of Technology, Delhi

Tata Institute of Fundamental Research

Indian Institute of Technology, Kanpur

Indian Institute of Technology, Indore

Indian Institute of Technology, Madras

Choose the correct answer from the options given below :
(1) A, CandD Only

(2) B,DandE Only

(3 B,CandDOnly

(4 A, CandEOnly

mgoEp

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558910897
Option 1 ID : 42558942408
Option 2 ID : 42558942409
Option 31D : 42558942410
Option 4 1D : 42558942411
Status : Answered
Chosen Option : 4
Q.43

Identify the correct statements :

A. (215}%‘ > (159)}é

B.  The next term in the series 2, 7, 28, 63, 126, ....... is 217
C.  The area of equilateral triangle of side 10 cm is 253

1
D.  The average of the following observations —2, —1,0, +1, +2, +31is 5

Choose the correct answer from the options given below :
(1) CandD Only

(2) B,Cand D Only

(3) AandD Only

4) A,CandD Only

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 42558910907
Option 11D : 42558942448
Option 2 ID : 42558942449
Option 3 ID : 42558942450
Option 4 1D : 42558942451

Status : Answered

Chosen Option: 1
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Q44 Match List - I with List - 11 :

List-1 List - I1

(Mental approaches) (Objectives related with)
A.  Recall L. Understanding
B. Discrimination I Knowledge
C.  Hypothesis establishment III.  Creativity
D. Evaluation IV.  Application

Choose the correct answer from the options given below :
(1)  A-IL B-IV, C-1, D-III
(2) A-IL B-I, C-IV, D-II
(3) A-1V, B-IIL, C-II, DI
4) A-1V,B-II, C-L D-II
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 42558910918
Option 11D : 42558942492
Option 2 ID : 42558942493
Option 31D : 42558942494
Option 4 ID : 42558942495

Status : Answered

Chosen Option : 2

Q.45 Match List - T with List - 11 :

List- I List-11
(Four Independent Verticals of HECI) (Major Function)
A. HEGC L Frame graduate attributes
B. GEC II.  Common Single Point Regulator
C. NAC II.  Funding and Financing of Higher
Education
D. NHERC IV. Accreditation of Institutions

Choose the correct answer from the options given below :
(1)  A-IL B-I, C-IV, D-III

(2) A, B-II, C-IV, DI

(3)  A-IV, B-IIL C-II, DI

(#)  A-IL, B-I, C-IV, D-1I

Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Question ID : 42558910898
Option 11D : 42558942412
Option 2 ID : 42558942413
Option 31D : 42558942414
Option 4 ID : 42558942415

Status : Answered

Chosen Option : 2
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Comprehension:

Read the following passage and answer the questions :

The first step is for us to realise that a city need notbe a frustrater of life; it can be among other
things, a mechanism for enhancing life, for producing possibilities of living which are not to be
realized except through cities. But, for that to happen, deliberate and drastic planning is needed.
Towns as much as animals, must have their systems of organs-those for transportand circulation are
an obvious example.

What we need now are organ systems for recreation, leisure, culture, community expression.
This means abundance of open space, easy access to unspoilt nature, beauty in parks and in fine
buildings, gymnasia and swimming baths and recreation grounds in plenty, central spaces for
celebrations and demonstrations, halls for citizens’” meetings, concert halls and theatres and cinemas
that belong to the city.

And the buildings must not be built anyhow or dumped down anywhere; both they and their
grouping should mean something important to the people of the place.

SubQuestion No : 46

Q.46
The word "drastic” in the passage means :
(1) Radical
(2)  Orderly
(3) Consistent
(4) Determined
Options 1.1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 42558910932
Option 11D : 42558942544
Option 2 ID : 42558942545
Option 3 ID : 42558942546
Option 4 ID : 42558942547

Status : Answered

Chosen Option : 4
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Comprehension:

Read the following passage and answer the questions :

The first step is for us to realise that a city need notbe a frustrater of life; it can be among other
things, a mechanism for enhancing life, for producing possibilities of living which are not to be
realized except through cities. But, for that to happen, deliberate and drastic planning is needed.
Towns as much as animals, must have their systems of organs-those for transportand circulation are
an obvious example.

What we need now are organ systems for recreation, leisure, culture, community expression.
This means abundance of open space, easy access to unspoilt nature, beauty in parks and in fine
buildings, gymnasia and swimming baths and recreation grounds in plenty, central spaces for
celebrations and demonstrations, halls for citizens’” meetings, concert halls and theatres and cinemas
that belong to the city.

And the buildings must not be built anyhow or dumped down anywhere; both they and their
grouping should mean something important to the people of the place.

SubQuestion No : 47

Q.47
What could be the most suitable title for the passage ?
(1) Towns versus Animals
(2) Theneed for planned cities
(3) Modern cities : Benefits and Shortcomings
(4) How to develop a Global city
Options 1.1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 42558910931
Option 11D : 42558942540
Option 2 ID : 42558942541
Option 3 ID : 42558942542
Option 4 1D : 42558942543

Status : Answered

Chosen Option : 2
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Comprehension:

Read the following passage and answer the questions :

The first step is for us to realise that a city need notbe a frustrater of life; it can be among other
things, a mechanism for enhancing life, for producing possibilities of living which are not to be
realized except through cities. But, for that to happen, deliberate and drastic planning is needed.
Towns as much as animals, must have their systems of organs-those for transportand circulation are
an obvious example.

What we need now are organ systems for recreation, leisure, culture, community expression.
This means abundance of open space, easy access to unspoilt nature, beauty in parks and in fine
buildings, gymnasia and swimming baths and recreation grounds in plenty, central spaces for
celebrations and demonstrations, halls for citizens” meetings, concert halls and theatres and cinemas
that belong to the city.

And the buildings must not be built anyhow or dumped down anywhere; both they and their
grouping should mean something important to the people of the place.

SubQuestion No : 48

Q48 The antonym of the word “frustrater” used in the passage is .
(1) Promoter
(2) Approver
(3) Admirer
(4) Downer
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 42558910934
Option 11D : 42558942552
Option 2 ID : 42558942553
Option 31D : 42558942554
Option 4 ID : 42558942555

Status : Answered

Chosen Option: 3
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Comprehension:

Read the following passage and answer the questions :

The first step is for us to realise that a city need notbe a frustrater of life; it can be among other
things, a mechanism for enhancing life, for producing possibilities of living which are not to be
realized except through cities. But, for that to happen, deliberate and drastic planning is needed.
Towns as much as animals, must have their systems of organs-those for transportand circulation are
an obvious example.

What we need now are organ systems for recreation, leisure, culture, community expression.
This means abundance of open space, easy access to unspoilt nature, beauty in parks and in fine
buildings, gymnasia and swimming baths and recreation grounds in plenty, central spaces for
celebrations and demonstrations, halls for citizens’” meetings, concert halls and theatres and cinemas
that belong to the city.

And the buildings must not be built anyhow or dumped down anywhere; both they and their
grouping should mean something important to the people of the place.

SubQuestion No : 49

Q49 The phrase 'Unspoilt Nature’ is in the context of

(1) Nature is not allowed to be a stumbling block in the hu_man S progress
(2)  Building cities with the system of organs like those of animals
(3) Free access to parks and open spaces
(4) Nature to retain its primitive condition
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Question ID : 42558910933
Option 11D : 42558942548
Option 2 ID : 42558942549
Option 3 ID : 42558942550
Option 4 1D : 42558942551

Status : Answered

Chosen Option : 4
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Comprehension:

Read the following passage and answer the questions :

The first step is for us to realise that a city need notbe a frustrater of life; it can be among other
things, a mechanism for enhancing life, for producing possibilities of living which are not to be
realized except through cities. But, for that to happen, deliberate and drastic planning is needed.
Towns as much as animals, must have their systems of organs-those for transportand circulation are
an obvious example.

What we need now are organ systems for recreation, leisure, culture, community expression.
This means abundance of open space, easy access to unspoilt nature, beauty in parks and in fine
buildings, gymnasia and swimming baths and recreation grounds in plenty, central spaces for
celebrations and demonstrations, halls for citizens’ meetings, concert halls and theatres and cinemas
that belong to the city.

And the buildings must not be built anyhow or dumped down anywhere; both they and their
grouping should mean something important to the people of the place.

SubQuestion No : 50

Q.50
Cities can be made more worth-living if they :
(1) arevigorously planned to serve the needs of the people
(2) have only good transportation facility
(3) have many hospitals
(4) have only more cinemas and sources of entertainment
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Question ID : 42558910930
Option 1 ID : 42558942536
Option 2 ID : 42558942537
Option 31D : 42558942538
Option 4 ID : 42558942539

Status : Answered

Chosen Option : 1

Section : Geography

Q51 The geopolitics of world natural resources is influenced by all of the following factors except ?

(1)  Unequal distribution of resources across regions

(2) Technological advancements in resource extraction

(3) Climate change policies

4) Complete self-sufficiency of all nations in resource production

Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Question ID : 42558910946
Option 11D : 42558942600
Option 2 ID : 42558942601
Option 3D : 42558942602
Option 4 ID : 42558942603

Status : Answered

Chosen Option : 4
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Q52 1 contrastto Mackinder's Heart land Theory, Spykman’s Rimland Theory emphasies which regions
strategic importance ?

(1)  Coastal Fringes of Eurasia
(2) Continental core of Eurasia
(3)  Arctic region

(4)  African continent

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558910952
Option 11D : 42558942624
Option 2 ID : 42558942625
Option 3 ID : 42558942626
Option 4 ID : 42558942627
Status : Answered
Chosen Option : 1
Q.53 ) i,
Match List - I with List- 11 :
List - 1 List - II
Passes States
A.  Jelep La L Himachal Pradesh
B.  Shipki La II. Jammu and Kashmir
C.  Lipu Lekh L. Sikkim
D. Banihal Pass IV. Uttarakhand

Choose the correct answer from the options given below :
(1) A-II, B-IV, C-1, D-IL
(2) A-1V, B-UII, C-1, D-11
(3) A-II B-lII, C-1V, D-1
(4) A-II, B-L C-1V, D-1

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 42558911012
Option 11D : 42558942864
Option 2 ID : 42558942865
Option 31D : 42558942866
Option 4 ID : 42558942867

Status : Answered

Chosen Option : 4
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Q.54

Which of the following regions are known for large - scale agro - industrialisation ?

The Murray - Darling Basin, Australia
The Pampas in Argentina

A.  Mato - Grasso in Brazil

B.  The Paris Basin

C.  The Ganga Plains in India
D.

E.

Choose the most appropriate answer from the options given below :
(1) A, B, CandD Only

(2) B,C DandEOnly

(3) A, CandD Only

4) A, B D,EOnly

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558911008
Option 11D : 42558942848
Option 2 ID : 42558942849
Option 3 ID : 42558942850
Option 41D : 42558942851
Status : Answered
Chosen Option : 4
Q5% Match List - I with List - II :
List -1 List- 11
Glaciers Locations
A.  Siachen I; The Korakoram Range
B.  Sona pani IL.  The Pir Panjal Range
C.  Rongbuk III.  The Kanchenjunga-Everest Region
D. Mana IV.  The Kumaon - Garhwal Region

Choose the correct answer from the options given below :
() A-IV, B-IIL, C-I1, D-1
(2) A-lI, B-IV, C-I, D-II
(3)  A-II, B-1, C-IV, D-1II
4) A-l, B CI0, D-IV
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 42558911023
Option 11D : 42558942908
Option 2 ID : 42558942909
Option 3 ID : 42558942910
Option 4 ID : 42558942911

Status : Answered

Chosen Option : 4
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Q.56 In the given options identify the important components of the Green Revolution in India ?
Land Reforms

Command Area Development

Drought Prone Area Programme

Rural Electrification

Urban Roads and Marketing

Choose the correct answer from the options given below :
(1) A, BandCOnly

(2) C DandE Only

(3) A, BandD Only

(4) B, DandE Only

B

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 42558910991
Option 11D : 42558942780
Option 2 ID : 42558942781
Option 31D : 42558942782
Option 4 ID : 42558942783

Status : Answered
Chosen Option: 1

Q.57 Among the Public Sector dockyards in India which Shipyard has the highest capacity for
ship-repairing ?
(1) Goa Shipyard Ltd.
(2) Mazgaon Dock
(3) Hindustan Shipyard Ltd.
(4)  Cochin Shipyard Ltd.

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 42558910971
Option 11D : 42558942700
Option 2 ID : 42558942701
Option 31D : 42558942702
Option 4 ID : 42558942703

Status : Answered
Chosen Option : 4
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Q.58

@
@
®)
)
Options 1. 1
2.2

3.3
4.4

Albert Hirschmann
John Friedmann
Gunnar Myrdal

W. Rostow

The process of cumulative causation was put forward by which author ?

Question Type : MCQ
Question ID : 42558910950
Option 11D : 42558942616
Option 2 ID : 42558942617
Option 3D : 42558942618
Option 41D : 42558942619

Status : Answered

Chosen Option : 3

Q.59

(&)
2
@)
)
Options 1. 1
2.2
3.3
4.4

Landforms
Hardware
People
Software

The Geographical information system has many important components, identify the one which is
NOT an important component ?

Question Type : MCQ
Question ID : 42558910955
Option 11D : 42558942636
Option 2 ID : 42558942637
Option 31D : 42558942638
Option 4 ID : 42558942639

Status : Answered
Chosen Option : 1
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Q.60 . : :
Identify the local winds which are hot ?
A.  Sirocco
B. Bora
C. Santa Ana
D Khamsin
Choose the most appropriate answer from the options given below :
(1) A, BandD Only
(2) A, BandC Only
(3) B,Cand D Only
@) A, CandD Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558911002
Option 11D : 42558942824
Option 2 ID : 42558942825
Option 31D : 42558942826
Option 4 ID : 42558942827
Status : Answered
Chosen Option : 4
Q.61 Which of the following statements are NOT correct for the Indian Jute Industry ?
A, Most of the jute producing areas went to Bangladesh, resulting in acute shortage of raw jute.
B.  The Ganga Brahmaputra delta grows about 10% of India’s jute and provides raw materials.
C.  Theinput cost for jute product in India is quite high.
D.  Dry climate is very convenient for spinning and weaving,.
Choose the most appropriate answer from the options given below :
(1) Band DOnly
() A, BandCOnly
(3) B,CandD Only
@) BandCOnly
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558911007
Option 11D : 42558942844
Option 2 ID : 42558942845
Option 3 ID : 42558942846
Option 4 ID : 42558942847
Status : Answered
Chosen Option : 4
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Q62 Which of the following statements are correct with reference to circum pacific belt ?
A, Circum-Pacific belt accounts about 80% of the active volcanoes of the world.
This belt is also called as the “fire girdle” of the Pacific Ocean.

C.  Here volcanoes are primarily caused due to collision of convergent plates along the Benioff
zones.

=

D.  This zone is also known for divergent plate margins.

Choose the most appropriate answer from the options given below :
(1) A, Band COnly

(2) B,Cand D Only

(3) A, CandD Only

(4) A, BandD Only

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558911003
Option 11D : 42558942828
Option 2 ID : 42558942829
Option 31D : 42558942830
Option 4 1D : 42558942831
Status : Answered
Chosen Option : 4
Q.63

Which one of the following is an advantage of vector data model ?
(1) Efficient for network analysis

(2) Complex data structure

3) Difficult overlay operations

)

—

Not compatible with satellite imagery

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 42558910954
Option 11D : 42558942632
Option 2 ID : 42558942633
Option 31D : 42558942634
Option 4 ID : 42558942635

Status : Answered
Chosen Option : 1
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Q.64 Arrange the following major gases as per their volume in the atmosphere in increasing order :

A.  Carbon Dioxide
B.  Argon
C.  Nitrogen
D.  Oxygen
E.  Hydrogen
Choose the correct answer from the options given below :
(1) EABD,C
2 4AEBDC
3) BAEDC

4 AEBCGCD

Options 1. 1

2.2

3.3

4.4

Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

Question Type :
Question ID :
Option 11D :

MCQ
42558910975
42558942716
42558942717
42558942718
42558942719
Answered

1

Q.65

The concept of ‘Ecological niche” was first introduced by :

1

L=

)
)
)
4)

_—

Options 1. 1

2.2
3.3
4.4

]. Grinel
Haeckel
Odum
Macfadyen

Question Type :
Question ID
Option 11D
Option 2 ID
Option 31D
Option 4 ID

Status :
Chosen Option :

MCQ

: 42558910964
: 42558942672
: 42558942673
: 42558942674
1 42558942675

Answered
1
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Q.66 Which of the following economic activity is an example of Quaternary group of economic

Chosen Option :

activities ?
(1) Retailing
(2)  Wholesaling
(3) Education
(4) Transport
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558910938
Option 11D : 42558942568
Option 2 ID : 42558942569
Option 3 ID : 42558942570
Option 4 ID : 42558942571
Status : Answered
Chosen Option : 3
Q.67 . 3 f
Albatross plateau is located in which Ocean ?
(1) Pacific Ocean
(2)  Atlantic Ocean
(3) Indian Ocean
(4) Arctic Ocean
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558910939
Option 11D : 42558942572
Option 2 ID : 42558942573
Option 3 ID : 42558942574
Option 4 ID : 42558942575
Status : Answered

1
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**® Match List - I with List - II
List - I List - I
Lake Type
A. Naina Lake L Crater
B. Pulicate Lake I[I. Corrie
C. Lonar Lake IlI. Fresh-water
D.  Waular Lake IV. Lagoon

Choose the correct answer from the options given below :

(1)  A-II, B-IV, C-I, D-II

(2) A-IL B-IV, C-I, D-III
(3)  A-L BI, C-III, D-IV
(4)  A-IV, B-III, C-II, D-I
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558911010
Option 11D : 42558942856
Option 2 ID : 42558942857
Option 31D : 42558942858
Option 4 ID : 42558942859
Status : Answered
Chosen Option : 2
Q.69 Arrange the following states of India in ascending order on the basis of sex ratio as per 2011
census :
A.  Kerala

B. Tamil Nadu

C.  Chhattisgarh

D. Andhra Pradesh

Choose the correct answer from the options given below :
1) CDBA

2y DCBA

3 DCA,B

4) DBCA

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 42558910980
Option 11D : 42558942736
Option 2 ID : 42558942737
Option 3 ID : 42558942738
Option 4 ID : 42558942739

Status : Answered
Chosen Option: 1
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Q.70

Arid conditions are caused by a number of factors like :

A.
B.
.
D.

global atmospheric circulation
continentality

warm offshore currents

rain shadow effects

Choose the correct answer from the options given below :

(1)

A, B and C Only

@) A, CandD Only
(3) B,Cand D Only
4) A, BandD Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558910999
Option 11D : 42558942812
Option 2 ID : 42558942813
Option 31D : 42558942814
Option 4 ID : 42558942815
Status : Answered
Chosen Option : 4
Q.71 Arrange the following world cities in descending order on the basis of their size of population :
A,  Delhi
B. Dhaka
C. Tokye
D.  Shanghai
Choose the correct answer from the options given below :
1) ACBA
@ CADB
(3 ADCB
4 CDBA
Options 1.1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558910986
Option 11D : 42558942760
Option 2 ID : 42558942761
Option 3 ID : 42558942762
Option 4 ID : 42558942763
Status : Answered
Chosen Option : 2
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* Match List - I with List - II :
List- I List- 11
(Geographical Concept) (Geographer)
A.  Reine Geography I Ratzel
B.  Anthropological Geography I[. Bowman
C.  Political Geography IIl.  Busching
D.  Regional Geography IV. Hartshorne

(1)  A-IIL B-II, C-1, D-IV
(2)  A-II, B-I, C-II, D-IV
(3) A-IV, B-I, C-IL, DIl
(4)  A-IV, B-II, C-1, DI

Options 1.1
2.2
3.3
4.4

Choose the correct answer from the options given below :

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :
Chosen Option :

McCQ
42558911018
42558942888
42558942889
42558942890
42558942891
Answered

1

which year ?
(1) 2015
2 2017
(3) 2019
(4) 2021
Options 1. 1

2.2

3.3

4.4

Q.73 The Government of India approved the Bharatmala Pariyojana covering the length of 34,800 kms in

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :
Chosen Option :

MCQ
42558910969
42558942692
42558942693
42558942694
42558942695
Answered

2
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@7 Match List - I with List - I :
List-1 List - II
Local Names of Tropical Cyclones Countries
A.  Hurricanes L. Philippines
B.  Taifu II. USA
C. Bagio III.  Australia
D. Willy willy IV. Japan

Choose the correct answer from the options given below :
(1) AL B-1L, C-I1L, D-1IV
(2)  A-1IV, B-1II, C-11, D-I
(3) AL B-IV, C-L, D-II
(4) A-IL B-1V, C-1, D-II
Options 1. 1
2.2

3.3
4.4

Question Type : MCQ
Question ID : 42558911015
Option 11D : 42558942876
Option 2 ID : 42558942877
Option 3D : 42558942878
Option 4 ID : 42558942879

Status : Answered

Chosen Option : 4

Q.75 Among the given definition, choose the correct one that precisely defines Standard Deviation :

(1)  The standard deviation is the positive square root of the mean of the squares of deviations
from the mean

(2)  Itis that value of a variable which occurs maximum number of times

(3)  Itis the value which divides the number of observations in such a way that half the value are
less than this value and half of them are more

(4) A measure of dispersion derives from the average of deviations from some central value
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 42558910972
Option 11D : 42558942704
Option 2 ID : 42558942705
Option 31D : 42558942706
Option 4 ID : 42558942707

Status : Answered

Chosen Option : 1
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Q76 puye to the practice of head hunting in the past, compact settlements developed at the tops of hills

and ridges in which state ?
(1) Tamil Nadu
(2) Nagaland
(3) Orissa
(4) Andhra Pradesh
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558910966
Option 11D : 42558942680
Option 2 ID : 42558942681
Option 3 ID : 42558942682
Option 4 ID : 42558942683
Status : Answered
Chosen Option : 1
Q.77 . ; — :
The incoming solar radiation is known as :
(1) Isolation
(2) Imsolation
(3) Radiation
(4) Izolation
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558910948
Option 11D : 42558942608
Option 2 ID : 42558942609
Option 3 ID : 42558942610
Option 4 1D : 42558942611
Status : Answered
Chosen Option: 2
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Q.78 Choose the correct statements with reference to Geographical cycle of Davis :
A, Landscape is a function of structure, process and time
B. Landforms are evolved by interaction of endogenetic and exogenetic forces
C.  No river can erode its valley beyond base level (sea level)
D.  Davis used the term primarumpf to represent the characteristic landscape before upliftment.
Choose the correct answer from the options given below :
(1) A, Band COnly
(2) B, Cand D Only
(3)  A,CandD Only
(4) A,Band D Only

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558910995
Option 11D : 42558942796
Option 2 ID : 42558942797
Option 3 ID : 42558942798
Option 4 ID : 42558942799
Status : Answered
Chosen Option : 3
Q.79 which among the following statements are correct regarding Jet Streams ?
A, Jet stream are strong, regular winds which blow in the upper atmosphere
B.  There are two jet streams in each hemisphere
C.  The jet streams result from differences in equatorial and sub tropical air and between polar
and sub-tropical air
D.  Greater the temperature difference, weaker the jet stream
Choose the correct answer from the options given below :
(1) A BandD Only
(2) A BandCOnly
(3) B,Cand DOnly
(4) A, CandD Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558910997
Option 11D : 42558942804
Option 2 ID : 42558942805
Option 31D : 42558942806
Option 4 ID : 42558942807
Status : Answered
Chosen Option : 1
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Q.80 Name the instrument which is used to measure horizontal and vertical angles more precisely :

(1) Hypsometer
(2) Clinometer
(3) Theodolite
(4)  Aneroid Barometer
Options 1.1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558910953
Option 11D : 42558942628
Option 2 ID : 42558942629
Option 31D : 42558942630
Option 41D : 42558942631
Status : Answered
Chosen Option : 3
Q81 [ the context of federalism in India, which of the following constitutional amendments granted
more financial and administrative powers to local governments ?
(1) 42nd and 44th Amendments
2) 73 and 74" Amendments
(3) 44t and 46" Amendments
(4) 91t and 92" Amendments
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558910936
Option 1 ID : 42558942560
Option 21D : 42558942561
Option 3 ID : 42558942562
Option 4 ID : 42558942563
Status : Answered
Chosen Option: 2
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Q.82

(1)

Why is the Indian Ocean region geopolitically sigIﬁ_ficant ?

It connects major global energy trade routes

(2) It has the largest landmass in the world
(3) Itis the only ocean with no international disputes
(4) Itis entirely controlled by India
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558910942
Option 11D : 42558942584
Option 2 ID : 42558942585
Option 31D : 42558942586
Option 4 ID : 42558942587
Status : Answered
Chosen Option : 1
Q.83 Kates Behavioristic approach to Geography is based on which of the following assumptions :
A, Men Makes Choices
B.  Choices are made on the basis of knowledge
C.  Men are rational while taking decision
D. Information is neither evaluated nor determined
Choose the correct answer from the options given below :
(1) B, Cand DOnly
() A, BandD Only
(3) A, BandCOnly
4) A, CandD Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558910994
Option 11D : 42558942792
Option 2 ID : 42558942793
Option 31D : 42558942794
Option 4 ID : 42558942795
Status : Answered
Chosen Option : 3
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Q.84 Arrange the following Greek geographers in chronological order (Earlier to Latest) :
A.  Herodotus
B. Eratosthenes
C.  Hippocrates
D. Ptolemy
Choose the correct answer from the options given below :
(1), A CBD
2 ABCD
(3) ADBC
4 ACDB
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558910978
Option 11D : 42558942728
Option 2 ID : 42558942729
Option 3 ID : 42558942730
Option 4 1D : 42558942731
Status : Answered
Chosen Option : 1
Q85 \atch List - I with List - 11 :
List-I List-II
Author Name of Book
A, G.T.Trewartha L. Geography of Population
B. LS. Shryock IL. A Geography of Population: World Patterns
C.  John L Clarke III. The Methods and Materials of Demography
D. R.C.Chandna IV. Population Geography
Choose the correct answer from the options given below :
(1)  A-L B-IL C-lII, D-IV
(2) A-II, B-UI, C-1IV, DL
(3)  A-II, B-II, C-1, D-IV
(4) A-II B-I, C-1V, D-II
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558911022
Option 11D : 42558942904
Option 2 ID : 42558942905
Option 3 ID : 42558942906
Option 4 ID : 42558942907
Status : Answered
Chosen Option : 2
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Q86 Arrange the following important peaks in ascending order of altitude ?

A. Nanda Devi

B.  Badrinath

C. Kanchenjunga

D Namcha Barwa

Choose the correct answer from the options given below :

() B,ADC

2) BDCA

3) D,BA,C

4) BDAC
Options 1. 1

2.2

3.3
4.4

Question Type : MCQ
Question ID : 42558910988
Option 11D : 42558942768
Option 2 ID : 42558942769
Option 31D : 42558942770
Option 4 ID : 42558942771

Status : Answered

Chosen Option : 4

Q87 Indian GPS System known as NavIC (Navigation with Indian Constellation) is designed with a
constellation of satellites.

L 3
@ 5
@G 7
@ 9
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 42558910959
Option 11D : 42558942652
Option 2 ID : 42558942653
Option 31D : 42558942654
Option 4 ID : 42558942655

Status : Answered
Chosen Option : 2
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€
D.

Q.88 Natch List - I with List - IT :

List - I

Components of Ecosystem
Photographs

Chemotrophs

Saprophytes
Parasites

I:
IL

1L
Iv.

Choose the correct answer from the options given below :

List-II
Related to
Which prepare food through chemosynthesis

Depends on organic components derived from dead
plants and animals

Depended on living organisms
Which prepare food through photosynthesis

(1) A-I, B-IL C-II1, D-IV
()  A-IL B-IL C-1, DIV
(3) A-1V, B-1, C-1I, D-IIL
(#) AL B-IV, C-IIL, D-1
Options 1.1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558911016
Option 11D : 42558942880
Option 2 ID : 42558942881
Option 3 ID : 42558942882
Option 4 ID : 42558942883
Status : Answered
Chosen Option : 3
Q.89 What is true about Rossby waves ?
A, Rossby waves are meandering rivers of air
B.  Thereare two to four waves in each hemisphere
C.  They are formed by major relief barriers such as the Rockies and the Andes.
D.  They are formed by thermal differences and uneven land-sea interfaces
Choose the correct answer from the options given below :
(1) A ,CandD Only
(2) A, BandD Only
(3) A, Band COnly
(4) B,Cand DOnly
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558910998
Option 11D : 42558942808
Option 2 ID : 42558942809
Option 31D : 42558942810
Option 41D : 42558942811
Status : Answered
Chosen Option : 2
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Q90 Consider the following statements regarding ‘National Population Register’ (NPR) and choose the

correct one :

A, Objective is to prepare a register of all residents of India.

B.  The NPRis intended to serve as the basis for the National Register of Citizens (NRC).
C.  The NPR was compiled in 2000 along side the 2001 census.

D.  The creation of the NPR is mandated by the Citizenship Act 1965.

E.  NPR was created post-2008 Mumbai attacks.

Choose the most appropriate answer from the options given below :
(1) A DandE Only
(2) A,BandEOnly
(3) B,CandDOnly
(4) B,DandE Only

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558911004
Option 1 ID : 42558942832
Option 2 ID : 42558942833
Option 31D : 42558942834
Option 4 ID : 42558942835
Status : Answered
Chosen Option : 1
Q91 Ullman’s Model of Spatial Interaction does NOT introduce which of the following concept ?
(1) Transferability
(2) Intervening Opportunities
(3) Complementarity
(4) Distance-Decay
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558910935
Option 11D : 42558942556
Option 2 ID : 42558942557
Option 3D : 42558942558
Option 4 ID : 42558942559
Status : Answered
Chosen Option : 4
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Q92 e concept of urban Agglomeration in India was adopted for the first time in which census year ?

(1) 1951
(2) 1961
@) 1971
(4) 1981
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558910967
Option 11D : 42558942684
Option 2 ID : 42558942685
Option 3 ID : 42558942686
Option 4 ID : 42558942687
Status : Answered
Chosen Option: 2
Q93 Match List - I with List - IT :
List -1 List - 11
Terms Explanation
A. Death Rate L Number of deaths per thousand population
B.  Crude Birth Rate [I.  Ratio between number of births and number of female
in productive age
C.  Natural Increase of Population  III. Ratio between the numbers of Births and total
population
D.  General Fertility Rate IV.  Births over death per thousand of population
Choose the correct answer from the options given below :
(1) A-IV, B-1I, C-[, D-III
(2) AL BIV,C-II DI
(3) A-IV, B-1IL C-L, D-II
(4)  A-L B-IIL C-IV, D-II
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558911011
Option 11D : 42558942860
Option 2 ID : 42558942861
Option 3 ID : 42558942862
Option 4 ID : 42558942863
Status : Answered
Chosen Option : 4
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Q94 Arrange the following stages of growth of cities as propounded by Mumford :
Al Polis
B.  Metropolis
C.  Tyrannopolis
D. Eopolis
E.  Megalopolis
Choose the correct answer from the options given below :
1 ADBEC
2 DAEBC
3) D,ABEC
4 ADEBC
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558910977
Option 11D : 42558942724
Option 2 ID : 42558942725
Option 31D : 42558942726
Option 4 ID : 42558942727
Status : Answered
Chosen Option : 3
Q.95 Identify the physical factors which affects the supply of energy in the world and choose the correct
statements ?
A.  Large power stations require undulating land but geologically stable foundations.
B. Solar power needs a large number of days a year with strong sun light.
C.  Tidal power stations require a small Hdal range.
D.  Deposits of fossil-fuels are only found in a limited number of locations.
Choose the most appropriate answer from the options given below :
(1) AandBOnly
(2) Band DOnly
(3 AandD Only
(4) CandBOnly
Options 1.1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558911009
Option 11D : 42558942852
Option 2 ID : 42558942853
Option 31D : 42558942854
Option 4 ID : 42558942855
Status : Answered
Chosen Option : 2

Google Play



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247

Google Play

Q.96 Arrange the following theories related to urban settlement in chronological order as per the vear it
was proposed (old to new) :

A, The sector theory

B. Rank size rule

C.  The multiple nuclei theory

D.  The concentric or zonal theory

Choose the correct answer from the options given below :

() ABCD
20 DACB
(3 ACBD
4 DCAB
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 42558910976
Option 11D : 42558942720
Option 2 ID : 42558942721
Option 3 ID : 42558942722
Option 4 ID : 42558942723

Status : Answered
Chosen Option : 2

Q97 Which among the following salt constitute the highest percentage of salt in the Oceans ?
(1) Sodium Chloride
(2) Magnesium Chloride
(3) Magnesium Sulphate
(4) Calcium Sulphate
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 42558910940
Option 11D : 42558942576
Option 2 ID : 42558942577
Option 3D : 42558942578
Option 4 1D : 42558942579

Status : Answered
Chosen Option : 1
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Q.98 P i e
Who gave the concept of City-Region” ?
(1) Dickinson
(2) Gottman
(3) Geddes
@)  Zipf
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558910968
Option 11D : 42558942688
Option 2 ID : 42558942689
Option 3 ID : 42558942690
Option 41D : 42558942691
Status : Answered
Chosen Option: 1
Q.99 i 3 : i ; "
Who propounded the concept of “Innovation Diffusion as a Spatial Process” ?
(1) Ullman
(2) Morrill
(3) Hagerstrand
4) Reilly
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558910951
Option 11D : 42558942620
Option 2 ID : 42558942621
Option 3 ID : 42558942622
Option 4 ID : 42558942623
Status : Answered
Chosen Option : 3
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1% Match List - I with List - 11
List-1 List - 11
Theories of Mountain Building Propounded by
A.  Geosynclinal orogen L. Daly
B.  Thermal contraction II. Holmes
C.  Sliding continent III. Jeffreys
D.  Thermal convection IV. Kober

Choose the correct answer from the options given below :
(1) A-IV, B-III, C-I, D-II
(2)  A-1V, B-II, C-11I, D-1
(3) A-II, B-I, C-IV, D-1
(4) A-IL B-II, C-1V, D-1

Options 1. 1
2.2
3.3
4.4

Question Type :

Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 4 1D
Status :
Chosen Option :

MCQ

42558911013
42558942868
42558942869
42558942870

42558942871

Answered
1

Q.101 Arrange the following Health Care Policies of India in chronological order on the basis of their
launch year 7

A, Pradhan Mantri Garib Kalyan Package Insurance scheme
B. Mission Indradhanush

C.  Ayushman Bharat - Digital Mission

D.  Ayushman Bharat - Pradhan Mantri Jan Arogya Yojana
Choose the correct answer from the options given below :

() BDCA
2 BDA,C
3 DBAC
4) DBCA
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

McCQ
42558910981
42558942740
42558942741
42558942742
42558942743
Answered

2
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Q.102 Arrange the following Natural Hazards/Disasters of India in chronological order (earlier to latest) :
A, Tsunami (off Tamil Nadu Coast)
B.  Bhuj Earthquake
C.  Super Cyclone of Orissa
D.  Koyna Earthquake

Choose the correct answer from the options given below :

(), C,D,AB
2 DCBA
(3 B,ACD
4) ABDC
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558910983
Option 11D : 42558942748
Option 2 ID : 42558942749
Option 3D : 42558942750
Option 4 ID : 42558942751
Status : Answered
Chosen Option : 2
Q.103

Who wrote the book “Mainsprings of Civilization” ?
(1) E.Huntington

(2) E.C.Semple

(3) H.J. Makinder

(4) G.P.Marsh

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 42558910960
Option 11D : 42558942656
Option 2 ID : 42558942657
Option 3D : 42558942658
Option 4 1D : 42558942659

Status : Answered
Chosen Option : 1
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Q104 gichard Hartshorne has recognized four distinct approaches to the study of political geography of a
State, these are -
A.  Power analysis approach
B.  Historical approach
C.  Geographical approach
D.  Functional approach
E.  Morphological approach
Choose the most appropriate answer from the options given below :
(1) A B CandD Only
() A, B,CandEOnly
() A B, DandEOnly
) B,C DandEOnly
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558911006
Option 11D : 42558942840
Option 21D : 42558942841
Option 3 ID : 42558942842
Option 4 ID : 42558942843
Status : Answered
Chosen Option : 1
Q.105 : ;
The concept of sea floor spreading was first propounded by
(1) Hary Hess
(2) J.T. Wilson
(3) FE.B.Taylor
) Dutton
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558910965
Option 11D : 42558942676
Option 2 ID : 42558942677
Option 31D : 42558942678
Option 4 ID : 42558942679
Status : Answered
Chosen Option : 1
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Q.106
Match List - I with List - 11 :
List-1 List- 11
Volcanos Countries
A. Hekla L Equador
B. Cntapaxi IL USA
C. St Helens [II. Iceland
D. Mt. Mayon [V. Phillppines
Choose the correct answer from the options given below :
(1) A-I B-III, C-II, D-IV
(2) A-L B-II, C-II, D-IV
(3) A-II, B-1, C-1IV, D-II
{4] A-1II, B-1, C-I1, D-IV
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558911014
Option 11D : 42558942872
Option 2 ID : 42558942873
Option 3 1D : 42558942874
Option 4 ID : 42558942875
Status : Answered
Chosen Option : 4
Q.107 : 2 !
Which of the following is the oldest Indian rock system ?
(1) Purana
{2) Archean
(3) Aryan
(4) Dravidian
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558910945
Option 1 ID : 42558942596
Option 2 ID : 42558942597
Option 3 1D : 42558942598
Option 4 ID : 42558942599
Status : Answered
Chosen Option : 2
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A, The physical environment tends to provide the opportunity for a range of possible human
responses.
B.  Manis not a passive being but an active force.
C.  Manis not a free agent.
D. Man modifies the face of the Earth.
Choose the most appropriate answer from the options given below :
(1) A, BandCOnly
(2) B,Cand D Only
(3) A,BandD Only
(4) A, CandD Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558911001
Option 11D : 42558942820
Option 2 1D : 42558942821
Option 3 ID : 42558942822
Option 4 ID : 42558942823
Status : Answered
Chosen Option : 2
Q109 which year India became a signatory to Ramsar convention for conserving potential wetlands ?
(1) 1980
(2) 1982
(3) 1992
(4) 2001
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558910974
Option 11D : 42558942712
Option 2 ID : 42558942713
Option 3 ID : 42558942714
Option 4 ID : 42558942715
Status : Answered
Chosen Option : 2
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Q.110
Match List - I with List - 11 :
List - 1 List- 11
Minerals Reserves
A. Silver L. Koraput
B. Bauxite IL Zawar
g Copper [lI. Ratnagiri
D. Manganese IV. Balaghat
Choose the correct answer from the options given below :
(1) A-I B-II, C-IV, D-I1I
(2) A-IL, B-1, C-II1, D-IV
(3) A-L B, C-II, D-IV
{4] A-11, B-1, C-1V, D-III
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558911024
Option 11D : 42558942912
Option 2 ID : 42558942913
Option 31D : 42558942914
Option 4 ID : 42558942915
Status : Answered
Chosen Option : 2
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Q111

Arrange the following tributaries of River Ganga from West to East ?
A. Sarda

B. Gandak

C. Gomati

D. Ghaghara

Choose the correct answer from the options given below :
(), CABD
2 CADB
3) ACBD
4 ACDB

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558910984
Option 11D : 42558942752
Option 2 ID : 42558942753
Option 3 ID : 42558942754
Option 4 ID : 42558942755
Status : Answered
Chosen Option : 4
Q.112 : ;
Which of the following statements are correct for language ?
A.  Itis a distinct linguistic form peculiar to a region or social group.
B.  Itisa great form of socialization.
C. Itisa critical cultural element.
D.  Itis necessary for historical transmission and cultural accumulation.
Choose the most appropriate answer from the options given below :
(1) A, BandCOnly
(2) A ,CandD Only
(3) B,CandDOnly
(4) A, BandD Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558911000
Option 11D : 42558942816
Option 2 ID : 42558942817
Option 31D : 42558942818
Option 4 ID : 42558942819
Status : Answered
Chosen Option : 4
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Qns Arrange the following indigenous people of India on the basis of their primary habitat from South

to North ?
A, Minas
B. Todas
C. Bakarwals
B Nagas
Choose the correct answer from the options given below :
() A,BCD
(2) A,BD,C
(3 BACD
4) BADC
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558910982
Option 11D : 42558942744
Option 2 ID : 42558942745
Option 3 ID : 42558942746
Option 4 ID : 42558942747
Status : Answered
Chosen Option : 3
Q.114 Y ;
The horizontal air photos are also called as A
(1) Trimetrogen air photos
(2) Convegent air photos
(3) Oblique air photos
(4) Terrestrial air photos
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558910973
Option 11D : 42558942708
Option 2 ID : 42558942709
Option 31D : 42558942710
Option 4 ID : 42558942711
Status : Answered
Chosen Option : 4
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Q115 A marginal worker is the one who had worked for less than days ina year.
1) 183
@ 19
3¢) 185
@ 193
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558910958
Option 11D : 42558942648
Option 2 ID : 42558942649
Option 3 ID : 42558942650
Option 4 1D : 42558942651
Status : Answered
Chosen Option : 1
Q116 Which Ministry of Government of India looks after the Census operations in India ?
(1) Ministry of Education
(2)  Ministry of Statistics and Program implementation
(3) Ministry of Home Affairs
(4) Ministry of Health and Family Welfare
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558910943
Option 11D : 42558942588
Option 2 ID : 42558942589
Option 3 ID : 42558942590
Option 4 ID : 42558942591
Status : Answered
Chosen Option: 3
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Q17 \Which among the following statements are correct with regard to ‘geopolitics’ ?

A, The term ‘geopolitics’ was coined by Rudolf Kjellen

B.  ‘Geopolitic’ means the science of places

C.  ‘Lebensraum’ means living space

D.  According to German geopoliticians state had the biological necessity to grow
Choose the most appropriate answer from the options given below :

(I) A BandCOnly

(20 A CandD Only

(3) A, BandD Only

4) B,Cand D Only

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558911005
Option 11D : 42558942836
Option 2 ID : 42558942837
Option 3 ID : 42558942838
Option 4 ID : 42558942839
Status : Answered
Chosen Option : 2
Q118 Among the following statements choose the correct with reference to Mediterranean Biome :
A, Mediterranean biome is also called as sclerophyl biome.
B.  This biome includes the European lands bordering the Mediterranean sea.
C.  Plants of the Mediterranean biome have special types of root system.
D. Mediterranean biome extends between 10°N and 10°S latitudes in both the hemispheres.
Choose the correct answer from the options given below :
(1) B,CandDOnly
(2) A CandD Only
(3) A ,BandD Only
4) A BandCOnly
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558910990
Option 11D : 42558942776
Option 2 ID : 42558942777
Option 3 ID : 42558942778
Option 4 ID : 42558942779
Status : Answered
Chosen Option : 4
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Q.119 %
Choose the cold currents among the given ocean currents of the world :
A.  Brazil current
B. Falkland current
C. Benguela current
D. California current
Choose the correct answer from the options given below :
(I) A, BandD Only
(2) B, CandD Only
(3) A CandD Only
4) A BandCOnly
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558910992
Option 11D : 42558942784
Option 2 ID : 42558942785
Option 3 ID : 42558942786
Option 4 ID : 42558942787
Status : Answered
Chosen Option : 2
Q.120 : : ; : Z
Arrange the following states on the basis of their total area in ascending order :
A.  Uttarakhand
B.  Jharkhand
Telengana
D.  Chhattisgarh
Choose the correct answer from the options given below :
(1) ABCD
2 BACD
(3) ABDC
4) BADC
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558910985
Option 11D : 42558942756
Option 2 ID : 42558942757
Option 3 ID : 42558942758
Option 4 ID : 42558942759
Status : Answered
Chosen Option : 3
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Q121 Arrange the following Zones of land use around the central city based on Von Thunen’s theory
(from centre to periphery) :

Firewood and Timber production

Crop Farming, Fallow and Pasture

Three Field System

Crop Farming without fallow

Livestock Ranching

Choose the correct answer from the options given below :
1 ADCBE

(2 ABCDE

3) ABDCE

4 ADBCE

BgoEp

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558910979
Option 1 ID : 42558942732
Option 2 ID : 42558942733
Option 31D : 42558942734
Option 4 ID : 42558942735
Status : Answered
Chosen Option : 1
Q122 Arrange the following maps on the basis of their scale in descending order (Large to Small scale)
A, Topographical Map
B. Atlas Map
C.  Cadastral Map
D.  Wall Map
Choose the correct answer from the options given below :
(l, A, D,B,C
@ GCADB
3 ACBD
4 CDAB
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558910989
Option 11D : 42558942772
Option 2 ID : 42558942773
Option 31D : 42558942774
Option 4 ID : 42558942775
Status : Answered
Chosen Option : 2
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Q.123 .
The first concrete step to protect ozone layer was ?
(1) Paris climate Agreement
(2) Kyoto Protocol
(3) Rio Summit
(4) Montreal protocol
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558910963
Option 11D : 42558942668
Option 2 ID : 42558942669
Option 3 ID : 42558942670
Option 41D : 42558942671
Status : Answered
Chosen Option : 4
Q124 Which one among the following religion belongs to the traditional form of religion ?
(1) Buddhism
(2) Shintoism
(3) Judaism
(4) Shamanism
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558910944
Option 11D : 42558942592
Option 2 ID : 42558942593
Option 3 ID : 42558942594
Option 4 ID : 42558942595
Status : Answered
Chosen Option : 3
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)
@
@)
#)
Options 1. 1
2.2
3.3
4.4

Q125 Which of the following electoral reforms in India introduced the NOTA (None of the Above) option
in electronic voting machines ?

Supreme Court ruling of 2013
Representation of the people Act, 1951
615t Constitutional Amendment
Election Commission Guidelines of 2000

Question Type : MCQ
Question ID : 42558910937
Option 11D : 42558942564
Option 2 ID : 42558942565
Option 3D : 42558942566
Option 4 ID : 42558942567
Status : Answered
Chosen Option : 2
Q126 The subordination of women by men as the primary inequality in human society is the main tenet of
which approach in geography ?
(1) Humanism
(2)  Structuralism
(3) Feminism
(4) Postmodernism
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558910961
Option 11D : 42558942660
Option 2 ID : 42558942661
Option 3 ID : 42558942662
Option 4 ID : 42558942663
Status : Answered
Chosen Option : 3
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Q.127

Match List - I with List - 11 :
List- 1 List - II
Theories Propounded by
A.  Progressive Wave Theory L Holimann
B.  Stationary Wave Theory II.  Willian Whewell
C.  Submarine Density Current Theory [II. W.M. Davis
D.  Turbidity Current Theory IV. R.A.Haris

Choose the correct answer from the options given below :
(1) A-IV, B-1II, C-1I, D-L
(2) A-IL B-1V, C-1, D-III
(3) A-lI B-1V, C-I, D-1
(4) A-l, B-II, C-III, D-IV

Options 1. 1
2.2
3.3
4.4

Question Type :

Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 41D :

Status :

Chosen Option :

MCQ
42558911020
42558942896
42558942897
42558942898
42558942899
Answered

2
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Q.128
Match List - I with List - 11 :
List - 1 List- 11
Fundamental Concept Theory
A, Market Area L. Weber
B. [sodapam? IL Losch
g [solate Estate [II. David Smith
D. Space Cost Curve IV. Von Thunen
Choose the correct answer from the options given below :
(1) A-IL B-1, C-IV, D-I1I
(2) A-L B-II, C-II, D-IV
(3) AL B-1, C-II, D-IV
(4) A-I B-II, C-1V, D-III
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558911021
Option 11D : 42558942900
Option 2 ID : 42558942901
Option 3 1D : 42558942902
Option 4 ID : 42558942903
Status : Answered
Chosen Option : 1
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@122 Arrange the following major ports of India from North to South :
A.  Marmagao
B. Vishakhapatnam
C. Paradwip
D. Kandla
E. Mangalore
Choose the correct answer from the options given below :
(1} D,CBAE
@& DCBEA
3} CD,B,E A
4 CDBAE
Options 1.1
2.2
3.3
4.4

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

MCQ
42558910987
42558942764
42558942765
42558942766
42558942767
Answered

1

Q.130

A
B.
c
D.

(1)
2
(€
)
Options 1. 1
2.2

3.3
4.4

Which among the following statements are NOT true ?

Fog is cloud at ground level

Dew is the indirect deposition of water droplets onto a surface

Frostis a deposit of water droplets on vegetation

Snow is frozen precipitation

Choose the correct answer from the options given below :

B and C Only
A and B Only
B and D Only
Aand D Only

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

MCQ
42558910996
42558942800
42558942801
42558942802
42558942803
Answered

2
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Q.131
The city of Mumbeai is located in the centre of which region ?
(1) Kathiwar
(2) Konkan
(3) Northern Circars
(4) Vidarbha
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558910970
Option 11D : 42558942696
Option 2 ID : 42558942697
Option 3 ID : 42558942698
Option 4 ID : 42558942699
Status : Answered
Chosen Option : 4
Q132 Several international boundaries follow large and small rivers, choose the correct one :
A.  R.Sutlej between India and Pakistan
B.  R.Salween between Myanmar and Thailand
C. R. Amur and R. Ussuri between China and Russia
D. R.Congo between Zambia and Congo
Choose the correct answer from the options given below :
(1) B,CandDOnly
@ A,BandD Only
(3 A CandD Only
4) A, Band COnly
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558910993
Option 11D : 42558942788
Option 2 ID : 42558942789
Option 3 ID : 42558942790
Option 4 1D : 42558942791
Status : Answered
Chosen Option : 2
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Q133 Which is the specialised form of tourism in which people experience relatively untouched natural
environments ?

(1) Mass Tourism
(2) Cultural Tourism
(3) Medical Tourism
(4) EcoTourism
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558910941
Option 11D : 42558942580
Option 2 ID : 42558942581
Option 3 ID : 42558942582
Option 4 ID : 42558942583
Status : Answered
Chosen Option : 4
Q.134 5 i 2 ? 5 =
In Koppen's classification the ‘Cs’ type of climate represents to :
(1)  Western Europe type of climate
(2)  China type of climate
(3) Mediterranean type of climate
(4) Polar climate
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558910947
Option 11D : 42558942604
Option 2 ID : 42558942605
Option 3 ID : 42558942606
Option 4 ID : 42558942607
Status : Answered
Chosen Option : 3



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

247

GET IT ON
Google Play

Q.135

Match List - I with List - 11 :

oSnN=pg

List- I

Local names of Grasslands
Pustaz

Pampas

Bush Veld

Downs

L
IL

[1I.
IV.

List - II
Countries
Argentina
South Africa
Australia
Hungary

Choose the correct answer from the options given below :

1)

A-IV, B-1, C-11, D-III

(2) A-L B-I, C-II, D-IV
(3) A-II, B-1I, C-1, D-IV
4)  A-IL B-II, C-IV, DI
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558911017
Option 11D : 42558942884
Option 2 ID : 42558942885
Option 31D : 42558942886
Option 4 ID : 42558942887
Status : Answered
Chosen Option : 1
Q.136 ; 5 sy
How does climate change impact global geo-politics ?
(1) By reducing migration flows and economic disparities
(2) By weakening the influence of regional organizations
(3) By increasing geopolitical tensions over water and energy resources
(4) By decreasing the importance of renewable energy sources
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558910956
Option 11D : 42558942640
Option 2 ID : 42558942641
Option 3 ID : 42558942642
Option 4 ID : 42558942643
Status : Answered
Chosen Option : 3
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Who named his new scientific geography as “Erdbeschreibung” ?
(1) Hettner
(2) Ratzel
(3) Ritter
(4) Humboldt
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558910962
Option 11D : 42558942664
Option 2 ID : 42558942665
Option 3 ID : 42558942666
Option 4 ID : 42558942667
Status : Answered
Chosen Option : 3
Q138 The Annual Plans were formulated in between which two five year plans in India ?
(1) Second and Third
(2)  Third and Fourth
() Fourth and Fifth
(4)  Fifth and Sixth
Options 1.1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 42558910949
Option 11D : 42558942612
Option 2 ID : 42558942613
Option 31D : 42558942614
Option 4 ID : 42558942615
Status : Answered
Chosen Option : 4
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*™ Match List - I with List - II :
List - 1 List- 11
Concept Geographer
A.  Zusammenhang L. Schaefer
B.  Kulturland schaft Il.  Ritter
C. Genres de vie [ll. Schluter
D. Raison d'etre IV. Blache
Choose the correct answer from the options given below :
(1) A-IL B-III, C-1V, D-I
(2) A-II, B-1V, C-1II, D-I
(3) A-L B-II C-IV, D-I
(4) A-I, BV, C-II, D-II
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 42558911019
Option 11D : 42558942892
Option 2 ID : 42558942893
Option 31D : 42558942894
Option 4 ID : 42558942895

Status : Answered

Chosen Option : 1

Q140 Which one of the following is most suitable diagram to represent the decadal growth of
population ?

(1) Flow diagram
(2) Line graph

(3) Bardiagram
(4) Circle diagram
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Question ID : 42558910957
Option 11D : 42558942644
Option 2 ID : 42558942645
Option 31D : 42558942646
Option 4 ID : 42558942647

Status : Answered

Chosen Option : 2
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Comprehension:

Read the following passage and answer all the questions accordingly.

Tectonic forces are the primary factor that drives the dynamic processes that form the crust of the
Earth, which are referred to as earth movements. These movements can be classified into sudden and
slow processes. The phenomenon known as seismicity describes the existence of earthquakes, which are
caused by the movement of tectonic plates. The intensity of seismic activities are measured using the
Richter scale. Folding occurs when compressional forces act on rock layers, causing them to bend. This
process creates geological features such as anticlines and synclines. Faulting happens when stress exceeds
the strength of rocks, leading to fractures and displacement along fault lines. Types of faults include normal,
reverse, and strike-slip faults. Vulcancity involves the movement of magma from the Earth’s interior to
the surface, resulting in volcanic eruptions. When it comes to volcanoes, there are three categories : active,
dormant, and extinct. In addition to having a significant impact on human activity, these earth movements
are also responsible for the formation of land forms.

SubQuestion No : 141

Q.141
What is the primary cause of seismicity ?
(1) Magma movement
(2) Tidal forces
(3) Sudden release of energy along faults
(4) Folding of rock layers
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

McCQ
42558911030
42558942932
42558942933
42558942934
42558942935
Answered

3
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Comprehension:

Read the following passage and answer all the questions accordingly.

Tectonic forces are the primary factor that drives the dynamic processes that form the crust of the
Earth, which are referred to as earth movements. These movements can be classified into sudden and
slow processes. The phenomenon known as seismicity describes the existence of earthquakes, which are
caused by the movement of tectonic plates. The intensity of seismic activities are measured using the
Richter scale. Folding occurs when compressional forces act on rock layers, causing them to bend. This
process creates geological features such as anticlines and synclines. Faulting happens when stress exceeds
the strength of rocks, leading to fractures and displacement along fault lines. Types of faults include normal,
reverse, and strike-slip faults. Vulcancity involves the movement of magma from the Earth’s interior to
the surface, resulting in volcanic eruptions. When it comes to volcanoes, there are three categories : active,
dormant, and extinct. In addition to having a significant impact on human activity, these earth movements
are also responsible for the formation of land forms.

SubQuestion No : 142

Q142 What type of fault is created due to horizontal displacement of rock layers ?

(1) Normal fault
(2)  Strike - slip fault
(3) Reverse fault
(4)  Over thrust fault

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 42558911029
Option 11D : 42558942928
Option 2 ID : 42558942929
Option 31D : 42558942930
Option 4 1D : 42558942931

Status : Answered

Chosen Option : 2
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Options 1. 1
2.2
3.3
4.4

Comprehension:

Read the following passage and answer all the questions accordingly.

Tectonic forces are the primary factor that drives the dynamic processes that form the crust of the

Earth, which are referred to as earth movements. These movements can be classified into sudden and
slow processes. The phenomenon known as seismicity describes the existence of earthquakes, which are
caused by the movement of tectonic plates. The intensity of seismic activities are measured using the
Richter scale. Folding occurs when compressional forces act on rock layers, causing them to bend. This
process creates geological features such as anticlines and synclines. Faulting happens when stress exceeds
the strength of rocks, leading to fractures and displacement along fault lines. Types of faults include normal,
reverse, and strike-slip faults. Vulcancity involves the movement of magma from the Earth’s interior to
the surface, resulting in volcanic eruptions. When it comes to volcanoes, there are three categories : active,
dormant, and extinct. In addition to having a significant impact on human activity, these earth movements
are also responsible for the formation of land forms.

SubQuestion No : 143

Q.143 What is the primary distinction between an active and dormant volcano ?

An active volcano continuously erupt, while a dormant one never erupts again

A dormant volcano has erupted in the past but is currently inactive, where as an active volcano
erupts periodically or continuously

A dormant volcano is characterised by shallow magna chambers, whereas an active volcano
has deep magma reservoirs

Active volcanoes are always found at tectonic plate boundaries, whereas dormant ones exist
within stable continental interiors

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :
Chosen Option :

McCQ
42558911027
42558942920
42558942921
42558942922
42558942923
Answered

2
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Q.144

Comprehension:

Read the following passage and answer all the questions accordingly.

Tectonic forces are the primary factor that drives the dynamic processes that form the crust of the
Earth, which are referred to as earth movements. These movements can be classified into sudden and
slow processes. The phenomenon known as seismicity describes the existence of earthquakes, which are
caused by the movement of tectonic plates. The intensity of seismic activities are measured using the
Richter scale. Folding occurs when compressional forces act on rock layers, causing them to bend. This
process creates geological features such as anticlines and synclines. Faulting happens when stress exceeds
the strength of rocks, leading to fractures and displacement along fault lines. Types of faults include normal,
reverse, and strike-slip faults. Vulcancity involves the movement of magma from the Earth’s interior to
the surface, resulting in volcanic eruptions. When it comes to volcanoes, there are three categories : active,
dormant, and extinct. In addition to having a significant impact on human activity, these earth movements
are also responsible for the formation of land forms.

SubQuestion No : 144

A reverse fault accrues when :

(1) The hanging wall moves upward
(2
(3
(4

) The hanging wall moves downward
) The footwall moves downwards
)

MNo movement accurs

Options 1. 1
2.2
3.3
4.4

Question Type :

Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 41D :

Status :

Chosen Option :

McCQ
42558911028
42558942924
42558942925
42558942926
42558942927
Answered

3
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Options 1. 1
2.2
3.3
4.4

Comprehension:

Read the following passage and answer all the questions accordingly.

Tectonic forces are the primary factor that drives the dynamic processes that form the crust of the

SubQuestion No : 145

Q.145 Why is the study of Earth movements crucial for human societies ?

It helps determines land ownership based on geological shift
It aids in predicting weather conditions and ocean currents
It ensures that continental drift is reverse through technological advancements

It allows for better understanding and mitigation of natural hazards like earthquakes and
volcanic eruptions

Earth, which are referred to as earth movements. These movements can be classified into sudden and
slow processes. The phenomenon known as seismicity describes the existence of earthquakes, which are
caused by the movement of tectonic plates. The intensity of seismic activities are measured using the
Richter scale. Folding occurs when compressional forces act on rock layers, causing them to bend. This
process creates geological features such as anticlines and synclines. Faulting happens when stress exceeds
the strength of rocks, leading to fractures and displacement along fault lines. Types of faults include normal,
reverse, and strike-slip faults. Vulcancity involves the movement of magma from the Earth’s interior to
the surface, resulting in volcanic eruptions. When it comes to volcanoes, there are three categories : active,
dormant, and extinct. In addition to having a significant impact on human activity, these earth movements
are also responsible for the formation of land forms.

Question Type :
Question ID
Option 11D
Option 2 1D
Option 31D
Option 4 ID

Status :

Chosen Option

MCQ

142558911026
1 42558942916
1 42558942917
1 42558942918
- 42558942919

Answered

4
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Comprehension:

Read the following passage and answer all the questions accordingly.

Migration is a fundamental demographic process involving the movements of individuals or groups
from one geographical location to another, driven by economic, social, political, and environmental factors.
It can be categorized into voluntary and involuntary migration, internal and international migration, or
temporary and permanent migration. Economic opportunities, better living conditions, education, and
conflict are primary drivers of migration. Theories such as Ravenstein’s Laws of migration, Lee’s
Push-Pull Theory, and World System Theory explain migration pattern and motivations. Migration has
significant socio-economic impacts on both origin and destination regions. While receiving areas benefit
from labor supply and cultural diversity, challenges such as pressure on infrastructure, labor market
competition, and social integration arise. Incontrast, source regions may experience brain drain or economic
loss but benefit from remittances sent by migrants. The concept of transnationalism further highlights
how migrants maintain connections across borders. Migration policies world wide seek to balance economic
needs, national secu_rity, and humanitarian concerns, i_n_ﬂuenci_ng globﬂl migralinn flows and their 1Dng-
term consequences.

SubQuestion No : 146

@1 Which of the following is an example of involuntary migration ?
(1) Relocating for higher education
(2) Moving to another country for a job transfer
(3) Displacement due to armed conflict
(4) Shifting to a bigger city for better lifestyel
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 42558911032
Option 11D : 42558942936
Option 2 ID : 42558942937
Option 31D : 42558942938
Option 4 ID : 42558942939

Status : Answered

Chosen Option: 3
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Comprehension:

Read the following passage and answer all the questions accordingly.

Migration is a fundamental demographic process involving the movements of individuals or groups
from one geographical location to another, driven by economic, social, political, and environmental factors.
It can be categorized into voluntary and involuntary migration, internal and international migration, or
temporary and permanent migration. Economic opportunities, better living conditions, education, and
conflict are primary drivers of migration. Theories such as Ravenstein’s Laws of migration, Lee’s
Push-Pull Theory, and World System Theory explain migration pattern and motivations. Migration has
significant socio-economic impacts on both origin and destination regions. While receiving areas benefit
from labor supply and cultural diversity, challenges such as pressure on infrastructure, labor market
competition, and social integration arise. Incontrast, source regions may experience brain drain or economic
loss but benefit from remittances sent by migrants. The concept of transnationalism further highlights
how migrants maintain connections across borders. Migration policies world wide seek to balance economic
needs, national secu_rity, and humanitarian concerns, i_n_ﬂuenci_ng global migratinn flows and their 1Dng-
term consequences.

SubQuestion No : 147

Q.147 According to Lee’s Push-Pull. Theory, which of the following is NOT considered a “push factor” for
migration ?
(1)  Political instability
(2) Employment opportunities
(3) Natural disasters
(4) War and conflict

Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Question ID : 42558911034
Option 11D : 42558942944
Option 2 ID : 42558942945
Option 3D : 42558942946
Option 4 ID : 42558942947

Status : Answered

Chosen Option : 2
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Comprehension:

Read the following passage and answer all the questions accordingly.

Migration is a fundamental demographic process involving the movements of individuals or groups
from one geographical location to another, driven by economic, social, political, and environmental factors.
It can be categorized into voluntary and involuntary migration, internal and international migration, or
temporary and permanent migration. Economic opportunities, better living conditions, education, and
conflict are primary drivers of migration. Theories such as Ravenstein’s Laws of migration, Lee’s
Push-Pull Theory, and World System Theory explain migration pattern and motivations. Migration has
significant socio-economic impacts on both origin and destination regions. While receiving areas benefit
from labor supply and cultural diversity, challenges such as pressure on infrastructure, labor market
competition, and social integration arise. Incontrast, source regions may experience brain drain or economic
loss but benefit from remittances sent by migrants. The concept of transnationalism further highlights
how migrants maintain connections across borders. Migration policies world wide seek to balance economic
needs, national secu_rity, and humanitarian concerns, i_n_ﬂuenci_ng globﬂl migralinn flows and their 1Dng-
term consequences.

SubQuestion No : 148

Q148 Which of the following best describes “remittance dependency” in migration studies ?

(1)  When migrants rely on financial aid from international Organisation
(2)  When host countries depend on foreign workers for economic growth
(3)  When migrants are financially dependent on their employers abroad

(4) When home countries become heavily reliant on money sent by emigrants

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 42558911035
Option 11D : 42558942948
Option 2 ID : 42558942949
Option 3 ID : 42558942950
Option 4 1D : 42558942951

Status : Answered

Chosen Option : 4
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Comprehension:

Read the following passage and answer all the questions accordingly.

Migration is a fundamental demographic process involving the movements of individuals or groups
from one geographical location to another, driven by economic, social, political, and environmental factors.
It can be categorized into voluntary and involuntary migration, internal and international migration, or
temporary and permanent migration. Economic opportunities, better living conditions, education, and
conflict are primary drivers of migration. Theories such as Ravenstein’s Laws of migration, Lee’s
Push-Pull Theory, and World System Theory explain migration pattern and motivations. Migration has
significant socio-economic impacts on both origin and destination regions. While receiving areas benefit
from labor supply and cultural diversity, challenges such as pressure on infrastructure, labor market
competition, and social integration arise. Incontrast, source regions may experience brain drain or economic
loss but benefit from remittances sent by migrants. The concept of transnationalism further highlights
how migrants maintain connections across borders. Migration policies world wide seek to balance economic
needs, national secu_rity, and humanitarian concerns, i_n_ﬂuenci_ng global migratinn flows and their 1Dng-
term consequences.

SubQuestion No : 149

Q.149 Which of the following best describes the phenomenon where migration leads to a decline in working
age population in the origin country ?
(1)  Migration Selectivity
(2)  Population transition
(3)  Demographic inversion
(4)  Ageing effect

Options 1. 1
2.2
3.3
4.4

Question Type :

Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 41D :

Status :

Chosen Option :

McCQ
42558911033
42558942940
42558942941
42558942942
42558942943
Answered

1
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Comprehension:

Read the following passage and answer all the questions accordingly.

Migration is a fundamental demographic process involving the movements of individuals or groups
from one geographical location to another, driven by economic, social, political, and environmental factors.
It can be categorized into voluntary and involuntary migration, internal and international migration, or
temporary and permanent migration. Economic opportunities, better living conditions, education, and
conflict are primary drivers of migration. Theories such as Ravenstein’s Laws of migration, Lee’s
Push-Pull Theory, and World System Theory explain migration pattern and motivations. Migration has
significant socio-economic impacts on both origin and destination regions. While receiving areas benefit
from labor supply and cultural diversity, challenges such as pressure on infrastructure, labor market
competition, and social integration arise. In contrast, source regions may experience brain drain or economic
loss but benefit from remittances sent by migrants. The concept of transnationalism further highlights
how migrants maintain connections across borders. Migration policies world wide seek to balance economic
needs, national security, and humanitarian concerns, i_n_ﬂuenci_ng global migration flows and their long-
term consequences.

SubQuestion No : 150

Q.150 The concept of “brain drain” is most closely associated with which type of migration ?
(1)  Circular migration
(2)  Forced migration
(3)  Skilled migration
(4) Seasonal migration
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 42558911036
Option 1 ID : 42558942952
Option 2 ID : 42558942953
Option 3D : 42558942954
Option 4 ID : 42558942955

Status : Answered

Chosen Option : 3
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